MAIGH - WK 3 — Th
warm-bp
$$0 \int \frac{36x}{\sqrt{x^2-4}} dx \qquad h = x^2-4$$

conpute

$$\int \frac{1}{x^{2} + 7x + 12} dx$$

$$\int \frac{1}{x+3} + \frac{-1}{x+4} dx$$

$$\ln|x+3| - \ln|x+4| + C$$

Note: The step 2 above works whenever you see DISTINCT DEGREE ONE roots downstairs

MAIGHT - WK 3 - Th

Warm-hp $O\int \frac{a_0 x}{\sqrt{x^2 - 4}} dx$ $L = x^2 - 4$ General Principle! $\frac{1}{x^2 + 7x + 12} = sum$ of simpler rational expressions

$$\frac{1}{x^2+7x+12}$$
 = sum of simpler rational expressions

- D factor denom: $x^2+7x+12 = (x+3)(x+4)$
- $\frac{A}{X^{2}+7x+12} = \frac{A}{X+3} + \frac{B}{X+4}$ A, B are both unknown
- (3) solve for A,B. "clear denominators" (multiply both sides by LCD) 1 = A(x+4) + B(x+3)
- 4 continue to solve for AIB $Sub: X = -4 \Rightarrow 1 = A(-4+4) + B(-4+3)$ So: 1 = -B B = -1 $x=-3 \Rightarrow 1 = A(-3+4) = A(1)$ A = 1

$$\int \frac{1}{x(x-1)^{2}} dx = \int \frac{1}{x} - \frac{1}{x-1} + \frac{1}{(x-1)^{2}} dx = \int \ln|x| - \ln|x-1| - \frac{1}{x-1} + C$$

$$\frac{1}{X(X-I)^2} = \frac{A}{X} + \frac{B}{(X-I)} + \frac{C}{(X-I)^2}$$

include a fraction for each sub-factor

include a fraction for each sub-factor

(2) clear denom:
$$| = A(x-1)^2 + B(x)(x-1) + C(x)$$

multi, by LCD
 $| (x-1)^2 + B(x)(x-1) + C(x) + C(x) + C(x) + C(x)$

$$\frac{2}{2} = \frac{2}{2} = \frac{2}$$

$$\int_{0}^{1} \frac{1}{x^{2}} dx = \frac{x-1}{4x}$$

$$\int_{0}^{1} \frac{1}{x^{2}} dx = \int_{0}^{1} \frac{1}{x^{2}} dx = \frac{x-1}{1} = \frac{-1}{(x-1)}$$

$$A(x^{2}-2x+1) + Rx^{2}-Rx + Cx$$

$$A(x^{2}-2Ax+A) \rightarrow (A+B)x^{2} + (-2A-B)x + A+Cx$$

$$+Cx$$

RHS:
$$x^3$$
 coef = $A + B = 0$

constant = A
$$= 1$$

$$\Rightarrow A = 1$$

$$B = -1$$

Ivreducible Case
$$-\int_{x}^{x} \frac{1}{3x} dx = -\frac{1}{2} \frac{1}{1} + C$$

$$\int_{x}^{x} \frac{1}{(x^{2}+1)} dx = \int_{x}^{1} \frac{1}{x^{2}+1} dx = \frac{1}{2} \ln |x^{2}+1| + C$$

$$\int_{x}^{x} \frac{1}{(x^{2}+1)} dx = \int_{x}^{1} \frac{1}{x^{2}+1} dx = \frac{1}{2} \ln |x^{2}+1| + C$$

$$\int_{x}^{x} \frac{1}{(x^{2}+1)} dx = \int_{x}^{1} \frac{1}{x^{2}+1} dx = \frac{1}{2} \ln |x^{2}+1| + C$$

$$\int_{x}^{x} \frac{1}{3x} dx = -\frac{1}{2} \frac{1}{1} + C$$

$$\int_{x}^{x} \frac{1}{3x} dx = -\frac{1}{2} \frac{1}{1} + C$$

$$\int_{x}^{x} \frac{1}{x^{2}+1} dx = \int_{x}^{x} \frac{1}{x^{2}+1} dx = \int_{$$

$$\frac{1}{X(X^2+1)} = \frac{A}{X} + \frac{BX+C}{X^2+1}$$
 as usual for deger, but $BX+C$ over the irreducible factor. one factor